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and so functions 1y  and 2y  are linearly independent. 

Therefore the general solution of the homogeneous equation is  
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We show that 
1

sec
7

xy e x  is a particular solution of the inhomogeneous 

equation. 

 
1

sec 1 tan
7

xy e x x   , 

 3 2sec 2sec tan sec sec tan
7

xe
y x x x x x x     . 

So, 

2

2
2 tan 5 2 tan 5

d y dy
x y y xy y

dx dx
        

   3 2 2 5
sec 2sec tan sec sec tan tan sec 1 tan sec

7 7 7

x
x xe

x x x x x x e x x x e x         



  3 2sec 2sec tan sec sec tan 2 tan sec 1 tan 5sec
7

xe
x x x x x x x x x x         

 3 2 2sec sec sec tan 2 tan sec 5sec
7

xe
x x x x x x x       

   3 2 2 2sec sec tan sec 5sec sec sec (sec tan ) 5sec
7 7

x xe e
x x x x x x x x x x          

 sec sec 5sec sec
7

x
xe

x x x e x    . 

Hence, 
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is the general solution of the inhomogeneous equation. 
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